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..: ‘l.'ank‘is the shape of a cylinder fined with
— oheres on both end faces.
nf the cylinders =4 m
n =1m |

ime of cylinder = 7 x1x1x47 cum
=4 m’
Radius of the hemisphere=1m

‘ 2 4
~ Volume of 2 hemispheres = 2 = ar’ = i cum

4
Total volume of the tank = 4r + 37

127+47 167 16x3.14

- = = - 3
= 3 3 3 16.74m
Capacity of tank in liters = 16.74 x 1000

= 16740 Itr “

n. 7
A solid sphere is cut into two hemispheres. From
this spheres a maximum size of a square pyramid
and cone are cut off. What is the ratio of their
volumes?
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@ Volume of square pyramid = 7'
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